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10th- (Mathematics)

LO Based NAS Questions-2021-22
WEEKLY REVISION ASSIGNMENT -6

1. The distance of the point (a,b) from the originis :

foT (a,b) S ys T ITASHI

(a)atb (b)a’+b* (c) a-b (d) Va’+b?
2. The distance of the point (2,3) from the x-axis is :

(a) 2 units (b) 3 units (c) 1 unit (d) 5 units

fiT (2,3) € x- I3 3TASH |
(a) 2 feardvi  (b) 3 feamani®  (c) 1 faarein (d) 5 feamgmyt

3. The points(1,1) ,(-2,7) and (3,-3) are :
(a) vertices of an equilateral triangle ( FHZHI f3gH © fig)

(b) Collinear (AHIH)
(c) Vertices of an isosceles (H”-I'é*g‘?—ﬁ fE{ET-T ) ﬁEI'HEI)
(d) None of these (BT 9 a8t &d)

4. The valueof y, if the distance between the points (2,y) and (-4,3) is 10 is :
y T UG TR, A faenl (2,y) W3 (-4,3) © fegarg gt 10 feardmi 32 |

(a) 6 (b) -11 (c)5 (d)11
5. The coordinate of point A ,where AB is the diameter of a circle whose centre is (3,-4)

andB(1,4) is :

AB B gag v fawrA Jd | A9 gag © dg © fogerawid (3,-4) W3 B(1,4) I=3F
A BfageaniaTh |

(a) (2,0) (b) (12,-5) (c) (5,-12) (d) None of these (fEg&™J a8t &dt)

VA A A A S A A S A A A S A S A A A A A A S A A S A A S A A S A A A A S A A A A A S A A S A A S A A A A A A A A S A S A S

¢ &6 ¢ & 6 & 6 & 6 ¢ 6 ¢ ¢ ¢ & ¢ ¢ ¢ & & & & ¢ & & & & & & & & & & ¢ ¢ ¢ ¢ ¢ ¢ ¢
DA N Nt Ut Ut U N N N N Ut Ut Ut U Ut U U U U U N N Y N N U U U NN N T N Y Nt N N N N NN



6. The fourth vertex D of a parallelogram ABCD whose three vertices are A(-2,3) , B(6,7)
andC (8,3)is:
faR mi3g g39gnA © 3 ffemr @ fagsm wia A(-2,3), B(6,7) W3 ¢(8,3) J=3' 57

fig p @ fogemwiaen |
(a) (-1,0) (b) (0,-1) (c) (0,0) (d)
7. Theline 3x+y-9=0 divides the line joining the points (1,3) and (2,7) internally in the
ratio :
f8a 3ur 3x+y-9=0, fHEn (1,3) W3 (2,7) & fia™ @ 52 Uiz § far wigurs Re <34 ?
(a)3:4 (b)3:2 (c)2:3 (d) 4:3
8. If the points(-5,1) , (1,p) and (4,-2) are collinear, find the value of p .
Adg fHe (-5,1), (Lp) W3 (4,-2) ISH IET pT S TH |
(a)3 (b) 2 (1 (d) -1
9. The point on X-axis ,which is equidistant from the point(7,6) and (-3,4) is :

x-03 3 fEa fifg usT a3 r fa fdenr (7,6) w3 (-3,4) SAHGTIA 3 T |
(a)(0,3) (b)(43) (c)(3,0) (d)None of these(feaeJ I8t &)

10. Find the coordinate of the point which divides the join of (-1,7) and (4,-3) in the ratio

2:3.
fan fiig @ fogemig uzrad A fa fdenr (-1,7) w3 (4,-3) §2:3enwpuafRgdse d |

(a) (1,3) (b) (26)  (c)(3,4)  (d)(4,6)

f3ng 9337 »ifyzAg Ha
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